3T ALY LR
v X2 RF v HXH=2 /=
HXY = 39,955,000 XAzl 28 = A AY 20,000
Zolzg 42,768,000 SRR U R 3,024,330
ZEC|OMME 2SS 23,495,760 HEZ2IY 27,900
vS2 v 3RS RAF
FEEA Hzaa) 10,000,000 Ot SR AR EHT) 19,690,000
oI5 4H H) 19,690,000 HEPEMR FALE (FEHT) 5,880,000
HEHMR A (R EHIT) 5,880,000 Y2 2R EH|H) 6,400,000
oy EH|H) 6,400,000 OIEULBIZ2 AU EHH) 10,000,000
orEUY H(EEHT) 10,000,000 HELNSE MR SN 10,940,000
Am=L|zt THAF Q7 2 10,940,000 SnZ AN YL EHEA B2 F2]) 25,000,000
SUE ALY L HIF A HE(ZF2) 25,000,000 2023 SR OHYS T2 W2 FI) 15,014,948
2023 ©5 ZRIAHEF2) 15,014,948 YR E ZEHEMEY) 8,500,000
SYRE ZEHEMIY) 10,502,107 oA BSOS S A0S Z2 M E(0F0| S0 2f) 7,000,000
FHAAB SZZMEOto| S0l 2h) 7,000,000 DYAS AP AUF Y Z 2 (0t 35,933,230
IEAE HZ =230t 100,000,000 CIX 0SS XA (2 S2l-8E2lT) 308,000
CXEOrS SR JA (2 22l-HFalm 500,000 MO 23 Y SA R (22 3]) 8,160,000
MO 2SS A (23 2)) 17,725,000
344,870,815 v A=

Zolzg 12,422,830

LECIOHIE 28 2/F 6,119,960
& FHE q
AgE SateFR0l 9 12% 19,616,817 & SUE x|ELY
ME=E MEgtA o 53 10,787,546 Helzd 42,446,763
o|F Tt FAD|AL O2[E| Q] 42 10,353,600 =i =T 5,948,240
7| &t L2 O|CHE 2f 62 7,997,640
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